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TThhiiss  eeddiittiioonn  iiss  iinntteennddeedd  ffoorr  uussee  oouuttssiiddee  ooff  tthhee  UU..SS..  oonnllyy,,  wwiitthh  ccoonntteenntt  tthhaatt  mmaayy  bbee  ddiiffffeerreenntt  ffrroomm  tthhee  UU..SS..  EEddiittiioonn..  TThhiiss  mmaayy  nnoott  bbee  rreessoolldd,,  

ccooppiieedd,,  oorr  ddiissttrriibbuutteedd  wwiitthhoouutt  tthhee  pprriioorr  ccoonnsseenntt  ooff  tthhee  ppuubblliisshheerr.. 

Ex. 14–3 

Nike’s major source of funding is common stock. It has long-term debt, excluding 
current installments, of $409.5 million, compared t o stockholders’ equity of 
$7,025.4 million. 

Ex. 14–4 

The bonds were selling at a premium. This is indica ted by the selling price of  
126.987, which is stated as a percentage of face am ount and is more than par 
(100%). The market rate of interest for similar qua lity bonds was lower than  
8%, and this is why the bonds were selling at a pre mium. 

Ex. 14–5 

Apr. 1 Cash ........................................ .............................  24,000,000 
    Bonds Payable .................................. ..............   24,000,000 
 

Oct. 1 Interest Expense ............................ .....................  1,200,000 
    Cash........................................... ......................   1,200,000 
 

Dec. 31 Interest Expense ........................... ......................  600,000* 
    Interest Payable ............................... ...............   600,000 
    Accrue interest. 
 

  *24,000,000 × 10% × 3/12 

Ex. 14–6 

a. 1. Cash ......................................... .................................  44,346,760 
  Discount on Bonds Payable........................ ............  5,653,240 
   Bonds Payable ................................... .................   50,000,000 
 

 2. Interest Expense ............................... .......................  2,000,000 
   Cash............................................ .........................   2,000,000 
 

 3. Interest Expense ............................... .......................  2,000,000 
   Cash............................................ .........................   2,000,000 
 

 4. Interest Expense ............................... .......................  1,130,648 
   Discount on Bonds Payable ....................... .......   1,130,648 
 

  $5,653,240 ÷ 5 years = $1,130,648. 
 

b. Annual interest paid ............................ ..........................   $4,000,000 
 Plus discount amortized ........................... ....................    1,130,648 
 Interest expense for first year ................... ...................   $5,130,648 


